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e Are there imaginable digital computers which
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* theinterrogator C, is given the task of trying - '
to determine whether player A is male
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around. Player A tries to trick Cinto
making wrong decision. Player B attempts Q

to assist C into making correct decision. The ¢ interrogator
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female or the other way around. Player A still tries to
trick C into making wrong decision. Player B attempts
to assist C into making correct decision.
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to written questions to make the decision. n Q
A B

* "If the interrogator decides wrongly
as often when the game is played with

e 1. (902
e computer as he does when the game is o
played between a man and a woman", it may

be argued that the computer is intelligent. C

* The test results do not depend on the machine's ability to
give correct answers to questions, only how closely its
answers resemble those a human would give.
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No machine is close to pass the test
for a very long time.

Finally, a machine is no longer a machine.

 On 7 June 2014, 60th anniversary of Turing's
death, a Turing test competition was held at
the Royal Society London and was won by the
Russian chatter bot Eugene Goostman. The
bot, during a series of five-minute-long text
conversations, convinced 33% of the contest's
judges that it was human.

* The Turing test had been passed for the first
time.
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Standard Interpretation

male or female

. B
— Another Version A )
Player C, the interrogator, is given the task = | =
of trying to determine which player — A or \ /
B — is a computer and which is a human. The ‘.‘
interrogator is limited to using the responses to C

written questions to make the determination.

Common understanding has it that the purpose of the purpose of
the Turing test is not specifically to determine whether a computer
is able to fool an interrogator into believing that it is a human, but
rather whether a computer could imitate a human.

While there is some debate regarding whether the "Standard
Interpretation” is that described by Turing or, instead, based on a
misreading of his paper, these versions are not regarded as
equivalent, and their strengths and weaknesses are distinct.
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* an indistinguishability game

Challenger C
(pk, sk) = KeyGen(k)

Choose b e {0, 1}
c=Enc(pk, my)

pk >
(mg, my)

Chalienge: c

< b

A wins the game if b = b'

Adversary A

Choose m, and m;
my # M,

determine
b' € {0, 1}

AdV () = |Pr{b=b'}-% |

Enc(-) is secure if Adv, (k) is negligible
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